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Exponent/Log Review
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Evaluate each expression.

1)  log
3

9 2)  log
4

64

3)  log
3

81 4)  log
7

7

5)  log
7

49 6)  log
6

1

7)  log
2

16 8)  log
4

16

9)  log
2

4 10)  log
3

27

Rewrite each equation in exponential form.

11)  log
1

6

1

216
 = 3 12)  log

144
12 = 

1

2

13)  log
15

225 = 2 14)  log
4

1 = 0

Rewrite each equation in logarithmic form.

15)  81

1

2
 = 9

16)  19
1
 = 19
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17)  40
 = 1 18)  92

 = 81

Expand each logarithm.

19)  log (u2
 × v)3

20)  ln
u5

v3

21)  ln (3 8 × 5) 22)  ln (xy2)3

23)  log
7

3

12
6

24)  ln (35
7)

25)  ln (55
 × 12

3)
26)  ln (a5

b )2

27)  ln
a2

b5
28)  log

2

7 × 12
6

5
4

29)  log
2

(x2y3
 × z)

30)  log
6 ( xzy6)4

31)  log
8

(55
3 × 7)

32)  ln
zx5

y2
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Solve each equation.  Round your answers to the nearest ten-thousandth.

33)  6m + 4
 - 1 = 18 34)  24n

 + 2 = 96

35)  610r
 + 4 = 18 36)  16

p - 6
 + 5 = 71

37)  6 × 9
-7m

 = 8 38)  4 × 7
-3r

 = 2

39)  2a + 3
 - 8 = 73 40)  4 × 18

-6k
 = 48

41)  5 × 7
b + 2

 = 98 42)  7-9n
 + 3 = 18

Solve each equation.

43)  2 + log
8

(p + 7) = 6 44)  -4 log
11

3p = 0

45)  -9 log
3

(x - 7) = 9 46)  -4 + log
3

-3x = -2
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Evaluate each expression.

1)  log
3

9

2

2)  log
4

64

3

3)  log
3

81

4

4)  log
7

7

1

5)  log
7

49

2

6)  log
6

1

0

7)  log
2

16

4

8)  log
4

16

2

9)  log
2

4

2

10)  log
3

27

3

Rewrite each equation in exponential form.

11)  log
1

6

1

216
 = 3

(1

6)3

 = 
1

216

12)  log
144

12 = 
1

2

144

1

2
 = 12

13)  log
15

225 = 2

15
2
 = 225

14)  log
4

1 = 0

4
0
 = 1

Rewrite each equation in logarithmic form.

15)  81

1

2
 = 9

log
81

9 = 
1

2

16)  19
1
 = 19

log
19

19 = 1



©S u2U0]2Y2m zKzuqt_aW yScoefwtnw\aErteV hLsLqCd.O t eAKlYlM srBirg]hjtqsO ur`eTsweOrFvQemdV.M w yMmaLdKeq iwJittghY jIonZf]ien\iCtbeQ UPvr^escCaBlEcbuPlLuwsY.

Worksheet by Kuta Software LLC

-2-

17)  40
 = 1

log
4

1 = 0

18)  92
 = 81

log
9

81 = 2

Expand each logarithm.

19)  log (u2
 × v)3

6 log u + 3 log v
20)  ln

u5

v3

5 ln u - 3 ln v

21)  ln (3 8 × 5)

ln 3 + 
ln 8

2
 + 

ln 5

2

22)  ln (xy2)3

3 ln x + 6 ln y

23)  log
7

3

12
6

3 log 7 - 6 log 12

24)  ln (35
7)

5 ln 3 + 
ln 7

2

25)  ln (55
 × 12

3)
5 ln 5 + 3 ln 12

26)  ln (a5

b )2

10 ln a - 2 ln b

27)  ln
a2

b5

2 ln a - 5 ln b

28)  log
2

7 × 12
6

5
4

log
2

7 + 6 log
2

12 - 4 log
2

5

29)  log
2

(x2y3
 × z)

2 log
2
x + 3 log

2
y + log

2
z

30)  log
6 ( xzy6)4

4 log
6
x - 4 log

6
z - 24 log

6
y

31)  log
8

(55
3 × 7)

5 log
8

5 + 
log

8
3

2
 + 

log
8

7

2

32)  ln
zx5

y2

ln z + 5 ln x - 2 ln y
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Solve each equation.  Round your answers to the nearest ten-thousandth.

33)  6m + 4
 - 1 = 18

-2.3567

34)  24n
 + 2 = 96

1.6386

35)  610r
 + 4 = 18

0.1473

36)  16
p - 6

 + 5 = 71

7.5111

37)  6 × 9
-7m

 = 8

-0.0187

38)  4 × 7
-3r

 = 2

0.1187

39)  2a + 3
 - 8 = 73

3.3399

40)  4 × 18
-6k

 = 48

-0.1433

41)  5 × 7
b + 2

 = 98

-0.4709

42)  7-9n
 + 3 = 18

-0.1546

Solve each equation.

43)  2 + log
8

(p + 7) = 6

{4089}

44)  -4 log
11

3p = 0

{1

3}

45)  -9 log
3

(x - 7) = 9

{22

3 }
46)  -4 + log

3
-3x = -2

{-3}


